a(6 @) (rad)
a(d cot(B))

e

10 Y=

1072

=
3
[

v

ATE TR L g
[ L T A
-1 0 1 2 3 = 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

-3

—— DQM_orginat

—e— DOM~tesIMKEit _initialS Reso

—_— B MQSSIMEEhEi{ Eﬁ%lgg Reso_test]l
—— DQMte: FitFitT] mma Reso‘lesllggbf

aoa, ) (cm)
o(dd,) (cm)

ﬂ

b
b

<

10—1_ 2 - A -)
* : : * Wil fre 2k oo
- : ; - el --*g;'r -----
B : | N '#I AN L0
I 0 : ] ﬂ:; "":ll:' T
i St - o | R R -

q : | | 1
10%....|....|....|....i....|.... 10—2....|....i....l....l....i....

# f T

v
=

T

v
o e
.=

<
-

1 2 3 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

il

[ RARRRRARRERE
N e 3
|
[

107%

-3 =2

Ratio

TP n (PCA to beamline)

[y




	Contents
	Page 1


